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The figures in the margin indicate full marks. NS A7 5% TRYIG 7‘7377‘77 Ao F11
Candidates should answer in their own words AT TS SIIT IR T NN
and adhere to the word limit as practicable. &g P!

GROUP-A
i+

1. Answer any two questions from the following: (Within 700 words) 10x2 =20
frratefe @-cieat 76 eieia T wies (q00 *Twa WKj)

(a) Discuss in detail on Indian Class system.
OIS ICE A JEI Tein fRifee Seesl Bl

(b) Define village. What are the characteristics of rural community in India?
ST TR WG | OIS &} 7=wicas (afRigyest 6 7 9

(¢) Who are Dalits? Discuss about dalit movements.
WIS BICHR T61 T 9 WIS SITHIS T SCaAIo= Tl

(d) Discuss in detail about secularism.

gffearorre! e [Rsifds wicana s

GROUP-B
festi-4

2. Answer any four questions from the following: (Within 300 words) 5x4 =20
frafefs -1 51afe 2var Ted wiss (9oo = W)

(a) Differentiate between caste and class.
&G 8 AR AL (o S

(b) Write a short note on rural development programmes in India.
SR & Tyl P Toa @F e Bt @I

(c) Discuss the functions of family in contemporary India.

TR Fie oiredrd ARAET TR WEAD I
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(d) Discuss the nature of tribal problem in India today.
T SIRSAE BoTIS FPIT &S FoE Sesa St
(e) Write a short note on Women’s Movement.

AR AT T2t 9o Ot &

(f) Discuss about Communalism.

RIS T s S

GROUP-C
feomt-o
3. Answer any five questions from the following: (Within 100 words)
fREfiRe @-@ia #ff5fb eres Tea vies (Yoo =(3d Wx))

(a) What is kinship?
e o 9

(b) What is the difference between Varna and Jati?
3 @ TIfeq Ty N 5 9

(c) What are the principal features of joint family?
i e sy el e e o

(d) Define Sanskritization.

TR TR WS |

(e) Define tribe.
Toreifon e wie |

(f) What is Dominant caste?
wifgererNe e & 9

(g) What do you understand by matrilineal family?
MyTeiefes #ifearm 310e & @ 2

(h) What do you mean by ‘self sufficient village’?
FIRI=) &l TS I90S 6 @I 9
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